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Question 1
Question Type: MultipleChoice

Which statement describes the outcome when the trust boundary is defined at the Cisco IP phone?

Options: 
A) Packets or Ethernet frames are not remarked by the IP phone.

B) Packets or Ethernet frames are remarked at the distribution layer switch.

C) Packets of Ethernet frames are remarked at the access layer switch.

D) Packets of Ethernet frames are not remarked at the access layer switch.

Answer: 
D

Question 2
Question Type: MultipleChoice



A presence redundancy group is deployed, and an engineer with ID012345678 initiates a Manager fallback. Which statement about

Cisco server Recovery Manager is true?

Options: 
A) restart the Cisco Presence Engine

B) disconnects all user that had been failed over

C) restarts critical services on the secondary node

D) disconnects all users that had been failed over, and the users must log in again

Answer: 
D

Question 3
Question Type: MultipleChoice

what causes poor voice quality and video pixelization in a video call?



Options: 
A) Cisco Unified Communications Manager is configured to use G.711 instead G.729.

B) 1 Gbps network ports are used instead of 100 Mbps network ports.

C) The QoS is configured incorrectly.

D) A firewall is blocking the RTP ports.

Answer: 
C

Question 4
Question Type: MultipleChoice

Which description of the Mobile and Remote Access feature is true?

Options: 
A) Collaboration Edge feature that enables remote individuals to perform international calls from Jabber with a VPN connection

B) Collaboration Edge feature that enables remote individual to access enterprise collaboration services via Jabber with the use of a



VPN connection

C) Collaboration Edge feature that enables remote individuals to access enterprise collaboration services via Jabber without the use of a

VPN connection

D) Collaboration Edge feature that enables remote individuals to access all enterprise collaboration services using a PC within the

corporate environment

Answer: 
C

Question 5
Question Type: MultipleChoice

Which transport protocol does the application layer protocol SNMP use?

Options: 
A) HTTP

B) XML



C) UDP

D) SIP

Answer: 
C

Question 6
Question Type: MultipleChoice

A network administrator deleted a user from the LDAP directory of a company. The end user shows as Inactive LDAP Synchronize User

in Cisco Unified Communications Manager. Which step is next to remove this user from Cisco Unified Communications Manager?

Options: 
A) Restart the Dirsync service after the user is deleted from LDAP directory.

B) Delete the user directly from Cisco Unified Communications Manager.

C) Wait 24 hours for the garbage collector to remove the user.

D) Execute a manual sync to refresh the local databased and delete the end user.



Answer: 
C

Question 7
Question Type: MultipleChoice

When a phone is registered over Mobile and Remote Access, where does it register?

Options: 
A) Expressway-C

B) Cisco Unified Communications Manager

C) Cisco Unified presence server

D) Expressway-E

Answer: 
B



Question 8
Question Type: MultipleChoice

An administrator recently upgraded a Cisco Webex DX80 through its web interface but discovered the next morning that the unit had

reverted to its previous version. What must the administrator do to prevent this from happening again?

Options: 
A) Confirm the phone load name in the phone configuration.

B) Set the prepare cluster for rollback to pre-8.0 enterprise parameter to true.

C) Assign a universal device template to the phone.

D) Assign a phone security profile with secure SIP.

Answer: 
A
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